TRANS1 TRANS

ADVAN5 ADVANI10 TRANS1
ADVAN 1 TRANS 2
CL K=CL/V
\
ADVAN 2 TRANS 2
CL K=CL/V
\ KA = KA
KA




ADVAN 3 TRANS 3

CL K =CLNV

% K12 = Q/V

Q CL K21= Q/(VSS-V)
VSS
ADVAN 3 TRANS 4

CL K =CL/V1

il K12 = Q/V1

Q CL K21 = Q/V2

V2
ADVAN 3 TRANS 5

AOB A/B K21 = (AOB*3 +a )/(AOB+1)
ALPHA a K=a*g /K21
BETA B K12= a +8 -K21-K
ADVAN 4 TRANS 3

CL K =CLNV

% K23 =Q/V

Q CL K32 = Q/(VSS-V)
VSS KA = KA

KA
ADVAN 4 TRANS 4

CL K = CL/V2

V2 K23 = Q/V2

Q CL K32 = Q/V3

V3 KA = KA

KA
ADVAN 4 TRANS 5

AOB A/B K32 = (AOB*f3 +a )/(AOB+1)
ALPHA a K=a*g /K32
BETA B K23 = a +8 -K32-K

KA

KA = KA




ADVAN 11 TRANS 4

CL K=CL/NV1

V1 K12 = Q2/V1

Q2 1 CL |K21=Q2/NV2

V2 1 K13 =Q3/V1

Q3 2 CL |K31=0Q3/V3

V3 2
ADVAN 11 TRANS 6

ALPHA a K= a*B *y I(K21*K31)
BETA B K13 = (P+K31*K31-K31*S-K*K21)/(K21-K31)
GAMMA % K12 = S-K-K13-K21-K31

K21 1 where

K31 2 S=a+p+y

P=a*B+a>y+B*y

ADVAN 12 TRANS 4

CL K=CL/N2

V2 K23 = Q3/V2

Q3 1 CL [K32=Q3/V3

V3 1 K24 = Q4/v2

Q4 2 CL | K42 =Q4/V4

V4 2

KA KA = KA

ADVAN 12 TRANS 6

ALPHA a K= a*B *y I(K32*K42)
BETA B K24 = (P+K42*K42-K42*S-K*K32)/(K32-K42)
GAMMA % K23 = S-K-K24-K32-K42

K32 1 where

K42 2 S=a+p+y

P=a*B+a*y +B*y

KA KA = KA




